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Example Problem Set 1 EECS 142

A differential amplifier is shown below.
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a) Use .DC in SPICE 1o compute the DC transfer characteristic from V; to Vg for
V. = £200mV and use TF to obtain the small-signal voltage gain and input resistance.

Verify with hand calculations.
b) Calculate HD5 in V for HV,- = 4mV and then 8mV o-peak sinusoidal. Compare with
.TRAN and .FOURIER in SPICE.
¢) Calculate the input interfering signal required to produce /M,y = 2 %.

An amplifier is shown below.
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a) Calculate small-signal input resistance and voltage gain at f = IMHz, and check with .AC

on SPICE.
b) Calculate HD; and HD;5 in V; for ‘:",- = 4mV and then 8mV o-peak sinusoidal. Compare

with .TRAN and .FOURIER in SPICE. Use f = 1 MHz.
¢) Calculate the input interfering signal required to produce /M, = 2 %.



